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General Instructions :
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All questions are compulsory.

Questions from serial number 1 to 16 are Multiple Choice Questions
carrying one mark each. You have to write the correct option in your
answer-book.

Marks allotted to other questions are indicated against each of them.
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T 7,00,000 spent on increasing the seating capacity of a cinema hall is
(a)  Capital expenditure

(b)  Revenue expenditure

(c) Deferred revenue expenditure

(d)  Capital receipt
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Sale of goods is a
(a)  Revenue receipt
(b)  Capital receipt
(c) Deferred revenue expenditure
(d) Revenue expenditure
OR
Sale of land ¥ 10,00,000, book value ¥ 6,000 is
(a)  Capital receipt
(b)  Capital expenditure
(c) Revenue receipt

(d)  Revenue expenditure
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In case of straight line method of charging depreciation, the amount of
depreciation every year

(a)  increases

(b) remains same

(c) decreases

(d) may increase or decrease
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Under diminishing value method, depreciation is charged on
(a)  cost of the asset

(b)  book value of the asset

(c) cost of the asset less installation charges

(d)  cost of the asset plus installation charges
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Which of the following is a limitation of the straight line method of

charging depreciation ?

(a) Itisvery simple.

(b)  Asset can be depreciated up to scrap value.

(c) It is based on the assumption of equal usage of the asset over its
entire useful life.

(d) Every year same amount is charged as depreciation.
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Depreciation charged on an asset is

(a)  debited to Trading Account.

(b)  debited to Profit and Loss Account.

(c) debited to Capital Account.

(d)  debited to Asset Account.

OR

For charging depreciation on an asset

(a) installation charges and scrap value are added to its cost.

(b)  installation charges and scrap value are deducted from its cost.

(c) installation charges are added and scrap value is deducted from
the cost.

(d) installation charges are deducted and scrap value is added to the
cost.
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A bank reconciliation statement is prepared by the
(a)  businessman
(b)  bank

(c) government
(d) income tax officer
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Bank Reconciliation Statement is prepared by comparing passbook
balance with

(a) Cash book balance

(b) Sales book balance

(¢) Purchases book balance

(d) All of the above
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A bill of exchange contains to pay.
(a)  a promise
(b) an order
(c) Neither an order nor a promise
(d) Both an order and a promise
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A bill of exchange is drawn by a

(a) debtor

(b) creditor

(c) Both a debtor and a creditor
(d) Neither a debtor nor a creditor
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Who among the following can be the same party in a bill of exchange ?
(a) Drawer and drawee
(b)  Payee and drawee
(c) Payee and acceptor
(d) Drawer and payee

OR
A bill of exchange is drawn by
(a)  buyer upon the seller
(b)  buyer upon the acceptor
(c) seller upon the buyer
(d)  seller upon the acceptor
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Which of the following is not included in cost of goods sold ?
(a)  Opening stock
(b)  Purchases

(c) Sales
(d)  Closing stock
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Closing stock is

(a)  debited to trading account.
(b)  credited to trading account.
(c) debited to profit and loss account.
(d)  credited to profit and loss account.

OR
Trading account is prepared to ascertain
(a)  Net profit
(b)  Net loss
(c) Balance of the capital account
(d)  Gross profit or gross loss

frfaRad § & @l o 14T 8H 1 HH-A1 HRU 7§77 Fhal ? 1
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Which of the following cannot be a cause of rendering the accounts
incomplete ?

(a)  Following double entry system

(b)  Not following double entry system

(c) Destruction of the records by fire

(d)  Using only debit or credit aspect while recording the transaction
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(%) TS @Y T ARG g 9

(@) U faey fafsr w syaom & feafa
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Statement of affairs is prepared to ascertain

(a)  net profit earned during a period

(b)  position of the business on a particular date
(c) gross profit earned during a period

(d)  All of the above
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I @ SFeR 1.1.2017 s T 10,000 TT 31.12.2017 1 T 20,000 & | 9§ §
39 eI I T 1,00,000 T PTAE R | a9 | Iwehl 3uR 5 off

(%) ¥ 1,10,000

(@) < 1,00,000

(T T 90,000

(g) ¥ 1,20,000

Jay’s creditors on 1.1.2017 were ¥ 10,000 and on 31.12.2017, ¥ 20,000.

During the year he paid ¥ 1,00,000 to the creditors. His credit purchases
during the year were

(a) ¥ 1,10,000

(b) ¥ 1,00,000

(c) < 90,000

(d T 1,20,000

JTAT = 1 1 3 7 2
What is meant by revenue expenditure ?

31 9TE, 2017 %! G9H gC 94 H FAR A f&fim #q w7 =21 fh

>
I hl TS T T TS 20,000
STeeh TSl 2,000
Tt 5,000
w9 2,00,000
U 3Gl I IE H o forw fammom 50,000
s ffem 4,000

I9Yh H ¥ YSITd oI, ITRATA ¥ qUT ST ARG 4T hl "l hl Tg=H
HIfT |

Kumar incurred the following expenditure on various items during the
year ended 315 March, 2017 :

=
Carriage on machinery purchased 20,000
Carriage outwards 2,000
Fittings 5,000
Purchases 2,00,000
Advertisement on launching new products 50,000
Insurance premium 4,000

Identify the items of capital expenditure, revenue expenditure and
deferred revenue expenditure from the above.
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a1 7 T 75,000 I Th A BT HT ThAT AT IHb TATTH W T 15,000 =5
fpu | i w1 Sfam 8 o B ek uvemq 3@ were (Feamon) g
T 10,000 BT | HeH W gt gou fafyr & 10% i a6 61 R 8 qeag™@ aH
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Riva purchased a machinery for ¥ 75,000 and paid ¥ 15,000 for its
installation. The machine has a life of eight years after which its scrap
value will be ¥ 10,000. Depreciation on the machine is to be charged
@ 10% per annum on diminishing value method. Calculate the amount of
depreciation for the first three years.

Ut HE o Ag dfre et o ags | R T g Fehdr 8 g Uhs
g § T |

Give any three items that may be recorded in the passbook but not in the
cash book.

fafga <t foregl & femivanst =1 3g@ Hif |
SreraT
farfrmaras <1 it dfSw |

State any three characteristics of a bill of exchange.

OR
Define a bill of exchange.

TR T A\ Tk T 20,000 3 | I8 A0 TTd dIR LA < Ifham & 7 |
39 3T AC hl AGH TlhIl THATSY difsh 98 394 If<H Wd H&l aI)
g |

HAAT
foreiia foremott o #gw & fopmgl oI forgal &1 3g@ HINT |
Maysha has a closing stock of ¥ 20,000. She is in the process of preparing
her final accounts. Explain to her the accounting treatment of this item
so that she can prepare her final accounts correctly.
OR

State any three points of importance of financial statements.

Soh g fae o1 = 319 B 2 UHY TRl @ el o Sergwwr e e ot
Tehg J&deh T TohdT T 1 =g ITEee a1 |

What is meant by bank reconciliation statement ? Give examples of any
two items that may be recorded in the cash book but not in the passbook.
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1.4.2018 sl =N 3 ITH HI T 70,000 % A HI fasha foam qen 3ues foru
IqH W g HIE WA ¢ T fafmaas foman | 3om 4 fafmeoas i sl #
foram |
3ITfeh o fore Tt am Hifse |

JreraT

1.6.2018 bl Tfar 7 Hid1 & T 1,00,000 % HATA T IUR Tasha fepam | war
i W 3T & AR H AA 718 I, o Th T foran S Hian o
o7 | ftar 7 foed =t Hiar <t 3T T TR oK form |

ITfh ® ¥ foren aret, e Sw for@n m, yraehdt qen wfierekdl 6 ggaH
sifs |

On 1.4.2018, Ghosh sold goods for ¥ 70,000 to Uttam and drew a bill of

exchange for the same upon Uttam payable after two months. Uttam
accepted the bill.

Prepare a bill of exchange for the above.

OR

On 1.6.2018, Geeta sold goods worth ¥ 1,00,000 to Sita on credit. Geeta

drew a bill of exchange upon Sita for the same amount payable after
three months to Meeta. The bill was accepted by Neeta on behalf of Sita.
Identify the drawer, drawee, payee, and acceptor from the above.

31.12.18 ! T3 Wog T® <hi Trafal qem eaansti shi fedfa e g 2
THg T 10,000; I T 1,65,000; % T 50,000; THGR T 1,50,000;
10% Sretafe 9 T 50,000; Be’ T 1,50,000 99T STER T 1,55,000.

39 fafyr 1 freTR wog @ w1 feufa foewor dum i |

HAAT
Torcfia faremont o1 = 31ef 3 2 39 foawon = TIR & 3T B 3g@ HifT |
Following is the position of assets and liabilities of Kishore and Sons as
on 31.12.18.

Cash ¥ 10,000; Capital ¥ 1,65,000; Bank < 50,000; Creditors
¥ 1,50,000; 10% long-term loan < 50,000; Furniture ¥ 1,50,000 and
Debtors ¥ 1,55,000.

Prepare a Balance Sheet of Kishore and Sons on the above date.
OR

What is meant by financial statements ? State the objectives of preparing
these statements.
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@Tdl sl QUL o fehral 9K ShRUN 1 Ig@ HINT |

HAYAT
YUl @Al ! s IR HHT FqTsT |
State any four reasons of incompleteness of records.

OR
State any four limitations of incomplete records.
TRl ARl T eAsTE T Shi STEvhal hl THSTST |
AYAT
1.1.2015 %! @& 9 T 2,00,000 3 Th HMH 1 567 TohaT | 3T 5o TATH
W T 20,000 T fFU | 3ok ITANT Sfad & uvarq wefia 1 et (o)
Ted T 10,000 BFT | A W el W@ fafy 9 109 i a¥ f R §@ qomE
AT 2 | e W anfes godgm S oM hifSe qon @i et W fore msfiad
Qa1 dIR HIT |
Explain the need for providing depreciation on fixed assets.
OR

Mohan purchased a machine on 1.1.2015 for < 2,00,000. He paid
T 20,000 on its installation. The scrap value of the machine after its
useful life will be ¥ 10,000. Depreciation on the machinery is charged
@ 10% per annumn according to straight line method. Calculate the
annual amount of depreciation on the machine and prepare machinery
account for three years.

31.1.2019 %! T & = faewon @ S& gaum faewor dar FHifse .

-
kg &l T 3T 58,000
=% T Ty T ot

PTaH o foTe Seqa &1 fopu Tu 16,000
ek ST fohu T T oneft

qeh Uehfd &l [t Y 5,400

TRk I T o @I |
gfere fopu T Wi $eRT TG
Uehe T8I H 81 T TR 100

From the following particulars of Naveen, prepare a bank reconciliation
statement as on 31.1.2019.

=
Balance as per cash book 58,000
Cheques issued but not presented for payment 16,000
Cheques deposited but not yet collected 5,400
Incidental charges debited to Naveen but not
recorded in cash book 100
11 P.T.O.
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B3 61 g&aenl @ ITH 1 W1 | 31.12.2018 ! THTH BT ¥ o g =R
TAT ATH-FTH QT IR HIT |

ANRHF WH T 6,000; HI T 24,000; fosha T 40,000; #SIh T 2,500;
I T 3,500; fomm ¥ 2,200, fRwam = 1,200; wEm fem ¥ 1,700,
TG T 1,200.

31.12.2018 I Af=<H ieh T 4,500 T |

From the following balances obtained from the books of Hariom, prepare
Trading and Profit and Loss Account for the year ended 31.12.2018.
Opening stock < 6,000; Purchases < 24,000; Sales < 40,000;
Wages T 2,500; Salaries ¥ 3,500; Advertisement ¥ 2,200; Rent ¥ 1,200;
Discount allowed ¥ 1,700; Repairs ¥ 1,200.

Closing stock on 31.12.2018 was ¥ 4,500.

1.4.2017 I IR 3 T 5,00,000 G5t T TH Faar AN fopam | o # 3o
T 1,50,000 1 ISt 1 sifafd faw fenm | SEd @9 % 3w % g
T 1,00,000 T AW fhaT | 31.3.2018 i 3ITeh! THUET qAT <¥ald
JhR off :

TER T 9,00,000; e T 12,56,000; Tih T 2,47,500 qAT §eh H UHS
T 2,49,800.

IRt J 3T ST BT 9@, argdt fafte Jorrefl o 3mur W&l fomam o |
SEER 1 foewe qor AT fere dIR X 31.3.2018 I FHIH BT 9
T oot & @y <h1 ToEn AT |

On 1.4.2017, Shankar started business with capital of ¥ 5,00,000. During
the year he introduced further capital of ¥ 1,50,000. He withdrew
< 1,00,000 for personal use. On 31.3.2018 he had the following assets and
liabilities : Creditors < 9,00,000; Debtors T 12,56,000; Stock T 2,47,500
and Cash at bank ¥ 2,49,800.

Shankar did not record his transactions according to double entry
system.

Calculate Shankar’s profit for the year ended 31.3.2018 by preparing
Statement of Affairs and Statement of Profit or Loss.
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